
Header pipe 1/1
Cod.3080009201 

Carbon Cover
cod.083990001

2 xPlain washer 5x15
Cod.406580 

N°4 Graphite Gasket
Cod.200371

2X Allen screw M5X12
T.C.Z.B.
Cod.201031

2X Short helical spring
tensile 
Cod.303949001

OPTIONAL
cod.5683

M12X1.25

Aisi 304 Stainless-Steel 
removable cylinder
bushing cod.206424

Aisi 304 Stainless-Steel 
removable cylinder
flange cod.206423

Knurled collar nut M8
Cod.200298

Plain washer 8x17
Cod.200294 

Screw M8X20
T.C.Z.B.
Cod.200722

2 xRubber plug
cod.204668

56 
50 

45 

54,80 

 2
3 

42 

 9
,7

5 
 9

,7
5 

bushing 
cod.206424

53 
50,40 

+0,20
0

60,50 
64 

 
-
0
0,10 

 5
,5

0 

 R1 

 R1 

 1
0 

 1
4,

50
  1

7 

bushing 
cod.206079

 95 

 R9,50 

65 

52
 

 9
,5

0 

 12 

 66 

64
 

4 

Flange sp.5mm
cod.206423

WARNING
it is advisable to optimize the carburation by remapping 
  the stock ECU or by adopting an additional ECU unit.

ART. 80009

KTM 690 SMC R-ENDURO R

HEADER PIPE 1/1 - STAINLESS STEEL

A   FITTING KIT Cod. 308099601R


	DT-80009
	Vista del disegno1
	Vista del disegno2
	Vista del disegno4
	Vista del disegno7


